Реши, раскладывая на удобные слагаемые. Действуй по образцу:

520 : 4 = (400+120) : 4= 130

680 : 4 ________________________________________

840 : 7 ________________________________________

320 : 2 ________________________________________

780 : 6 ________________________________________

Реши, раскладывая на удобные слагаемые. Действуй по образцу:

520 : 4 = (400+120) : 4= 130

680 : 4 ________________________________________

840 : 7 ________________________________________

320 : 2 ________________________________________

780 : 6 ________________________________________

Реши, раскладывая на удобные слагаемые. Действуй по образцу:

520 : 4 = (400+120) : 4= 130

680 : 4 ________________________________________

840 : 7 ________________________________________

320 : 2 ________________________________________

780 : 6 ________________________________________

Реши, раскладывая на удобные слагаемые. Действуй по образцу:

520 : 4 = (400+120) : 4= 130

680 : 4 ________________________________________

840 : 7 ________________________________________

320 : 2 ________________________________________

780 : 6 ________________________________________

Реши, раскладывая на удобные слагаемые. Действуй по образцу:

520 : 4 = (400+120) : 4= 130

680 : 4 ________________________________________

840 : 7 ________________________________________

320 : 2 ________________________________________

780 : 6 ________________________________________

Реши, раскладывая на удобные слагаемые. 
Действуй по образцу:

520 : 4 = (400+120) : 4= 130

680 : 4 ________________________________________

840 : 7 ________________________________________

320 : 2 ________________________________________

780 : 6 ________________________________________

